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1 EH KA 2 KBRF AT 33 34 67
2 B4 Xl 3 AFEIRE 33 36 69
3 £RE BEFE 3 EtawN= 31 39 70
4 BRA B= 3 BERAFRAT 35 36 71
5T Bk BR 2 KBRF AT 36 36 72
5T A &= 2 EefiiEallyN=a 34 38 72
T B]HE i 3 RVAT):EpNE S 38 35 73
7T R EA 4 Plig = 38 35 73
7T R =X 3 KERFFEAF 35 38 73
10T HT ¥ 3 TRRF AR 37 37 74
10T TR L% 2 Plig = 35 39 74
127 Kig % 4 ABRF AT 39 36 75
127 Bk BEE 4 ABRF AT 38 37 75
12T ZH —& 4 ARl N 37 38 75
12T 2 NE 2 KERFFEAF 37 38 75
12T Hir = 2 kPN 37 38 75
12T =5 B 2 ABRF AT 37 38 75
12T MM i 3 Nl N 37 38 75
12T it e 3 Pk N 35 40 75
12T He B2 2 REMLKE 33 42 75
21T na fFEX 3 HEAY 40 36 76
21T B $5 4 KIRF AT 39 37 76
21T =15 B¥ 2 EELARE 37 39 76
21T WA % 3 ity N=a 34 42 76
25T BN BE 3 KERFBTARF 41 36 77
25T T BHR 4 ARFRIAF 39 38 77
25T Bl F=E 3 HRAZ 38 39 77
25T NS TN 4 KIRF AT 38 39 77
25T =RE & 3 REML AR 37 40 77
25T Ba = 3 iR = 37 40 77
25T Rl KHE 3 EafilEaliiyNea 35 42 77
32 LM B 2 iR = 38 40 78
33T A EE 3 AFHAF 42 37 79
33T VNN =3¢ 3 EafilEaliiyNea 40 39 79
33T HH E7 2 ABRF AT 38 41 79
33T =HE B'X 2 iR = 36 43 79
33T hH EE 2 iR = 36 43 79
33T BH BE 4 HEAY 35 44 79
39T ELAKR HFE 3 iR = 40 40 80
39T M b 4 AFHAFE 38 42 80




39T 1B 4 VAN 38 42 80
39T BH ER 4 TEAF 37 43 80
39T FHE ® 3 KERF AT 37 43 80
44T BN B 4 Plig- N 43 38 81
44T E SRS 3 ERZFRAFE 38 43 81
44T MmN KB 2 KEREEKRSF 38 43 81
47T (ST /N 4 KRFFEARF 43 39 82
47T BR K 3 FrRAF 40 42 82
47T HEH  AKER 4 KERFPFEARZF 39 43 82
50T HAT i 3 TERF AR 41 42 83
50T T mE 4 Bl F BT 41 42 83
50T " OEYF 2 EARE 39 44 83
53T TR FH 4 KRFFERF 46 38 84
53T A BX 3 KRFFERF 45 39 84
53T BE FR 4 Eafil=ali N 42 42 84
53T ) 58 4 KERFFEAF 40 44 84
57T EH BB 4 AFHIARZF 46 39 85
57T AT #EK 4 Eafil=al N 46 39 85
57T A =E 4 BRIl F R 44 41 85
57T R HBIZ 2 IMEERT 43 42 85
57T R 4 AFHIARZF 41 44 85
57T mE Bl 4 AVA= ) EpN= 39 46 85
63T B B8P 4 PN 46 40 86
63T BRI 3 TBRIFRF 46 40 86
63T MR EE 4 TBRIF KT 43 43 86
63T L = 4 VA== 42 44 86
63T BEX B 4 EafipNea 41 45 86
63T HE AE 3 blin yNea 41 45 86
69 Aar B 2 EElEapNES 42 45 87
70T R BE 2 BILF RS 45 43 88
70T EH KM 3 KERFBTARF 41 a7 88
70T NI RS 2 REBKF 41 47 88
737 NEB LK 4 N2 47 42 89
73T BH =F 2 N2 45 44 89
75T X M2 3 EELKF 47 43 90
75T 1T 4 3 KIREEKRF 45 45 90
77 fL  sE5R 2 RELKEF 42 49 91
78 & AS 2 KRFFEARZ 42 52 94
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